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Sample Paper – 2009
Class – XII

Subject – Informatics Practices
Note:   (i) This question paper is divided into 3 sections


(ii) Section A consists of 30 Marks.


(iii) Section B and Section C are of  20 marks.


(iv) Answer the questions after carefully reading the text.

==============================================




[SECTION  - A]

Q.1)
Answer the following questions:


         a)   How is a back-end linked to a database and a server?[2]
         b) What is the difference between Freeware & Free 
              software? 





    [2]

         c) What is Object Oriented Modeling Technique ? Why 
               UML is used?  




    [2]
         d)  Explain term with suitable example –

                   i)  Data Dictionary    ii) Data Warehousing   

                 iii) Data Mining          iv) Meta Data 

    [2]
          e) Why are the following software used for?

    [2]
                  i) Linux

    ii) Tomcat



Q.2)
Answer the following questions:

a) Differentiate Public Sub and Private Sub.

    [2]
b) Explain the following:   


                [2]

i) RAD



ii)  ADO

c) What are events? What are event procedures? How are they related?  





    [2]
d) Explain Record Set and Types of recordSet
                [2]
   e)  What are parameters? Write the difference between actual 
         and formal parameters with example.

                [2]
Q.3)
Answer the following questions:
 a)   Explain the function SUBSTR() and INSTR() with a 

             suitable example.




  [2]

 b) Write the syntax to create an explicit cursor and Trigger.  [2]
c)    Differentiate between %Type and %rowType.  Explain 
 with  example.





   [2]
d)  What is the difference between Anonymous block and Named 
       block? Give example also.


               [2]
e)  What is transaction? Why do we use commit and rollback 
       statements. Explain in  brief with the help of an example.[2]          

 -----------------------------------------------------------------------




     [SECTION – B]

Q.4)
Read the following case study and answer the questions that follow:
Mr. Anil Sharma of High Income Finance Company needs to calculate the interest and amount due from his clients. He asks his software programmer to design an interest calculator which will calculate the compound interest and amount due if a person takes a loan for 5, 10 or 15 years. The programmer opts for Visual Basic Language to develop this and create the following form:
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	Object Type
	Object Name
	Description



	Form
	frmInterest Calc
	The main form object

	Text Box
	TxtPrincipal

txtRate

txtInterest

txtAmount
	To enter the principal

To enter the interest rate

To display the compound 

 interest

To display the amount due

	Comand Button
	cmdResult

cmdGrade

cmdClear

cmdExit
	Button for calculation

Button for grade

Button for clear the text boxes

For close


a) Write the code to disable the textboxes txtInterest and txtAmount in the form load event of frmInterestCalc
[2]
b) Write the code for cmdClear command button to clear all the textboxes and set default choice in the Option Buttons as 5 years. Also set the focus to txtPrincipal.

[2]
c) Write the code for the Change event of the textboxes txtPrincipal and txtRate to ensure that the user enters only numeric values in them.




[2]
d) Write the code for the Click event of the command button cmdCalculate to calculate the compound interest and amount depending on the principal, rate and time. The compound interest is calculated as P * (1 + R / 100) ^ T and amount as (Principal + Compound Interest).

[4]
Q.5)  Answer the following questions –
a) Which three programming constructs are supported by every 

     programming language. Explain with examples. 
        [2]
b) Find the errors from the following code segment and rewrite 
     the corrected code underlining the correction made.     [2]

    x = 5

    Do While x <= 10

        If x Mod 2 = 0

            Display x

    Loop

        k = k + 1

    End If

c) Find the output of the following code segment  

[2]

    Dim work As Integer, i As Integer

        work = 10

        i = o

        Do While work < 20

            Print work * i

            i = i + 2

            If i = 8 Then

                work = 20

            Else

                work = work - 3

            End If

        Loop

d) Write a PL-SQL code to find the sum of series 
        S = a + ar1 +  ar2 + ar3+ ar4

   
     [4]

------------------------------------------------------------------------------



[ SECTION – C]

Q.6) Read the questions given below and answer accordingly.
    a) Find the errors of the following code segment.
      [2]

create or replace procedure area_circle(radius real) 

area real;

begin;


area  = 22/7 x  radius x radius


print ('The area is = ',  area);

end;

b) Find the output produced by the following PL/SQL code–[2]  

DECLARE

 Y NUMBER;

 X NUMBER;

BEGIN

 Y :=15;

 FOR X IN 11..15

 loop

      if x>15 then

  dbms_output.put_line (y);

      else

  dbms_output.put_line (x);  

       end if ;

 y := y-1;

end loop;

END;

c)    Write the query for the following –


[2]

i) to display all the procedures and functions you have 

                     created.

ii) to view the source code of the procedure.

d)   Write a PL-SQL script that uses cursor FOR loop that 
       determines the top five highest paid employees from EMP    

       table. Be sure to incorporate the usage of the appropriate 
       cursor attributes. Print these five employees details on the  

       screen.






[4]

Q.7) Answer the questions based on the table EMPLOYEE 
         given below:

	EMPNO
	ENAME
	SALARY

	101
	RAJ
	10000

	102
	SUMIT
	20000

	103
	PAWAN
	30000

	104
	ANIL
	40000


a) Write the SQL command to display employee number and employee name whose salary are exactly 10000, 20000, 40000.





[1]

b) Write the SQL command to display the employee name and salary of all the employees in decreasing order of salary field.





[1]

c) Write a Procedure raise_sal which creates the salary of an employee. It accepts an employee number and salary increase amount. It uses the employee number to find the current salary from the employee table and update the salary.
Insert the details of the record in the table EMP_AUDIT (fields are EMPNO, INFO)  if no such employee exist in the department 


[4]

d) Create a trigger to display the salary difference when an employee information is changed.


[4]

        =====****=====
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Note:   (i) This question paper is divided into 3 sections


(ii) Section A consists of 30 Marks.


(iii) Section B and Section C are of  20 marks.


(iv) Answer the questions after carefully reading the text.

==============================================



[SECTION  - A]
Q.1)
Answer the following questions:


a)   
How is a back-end linked to a database and a server?
Ans) The back end is responsible for serving all the user requests. To server the user requests it ha s to interact with database to obtain data and to server to get the work done. After processing the given requests and queries, the server returns the results., which the back-end first interprets and then passes them over to front-end.

 b)  What is the difference between Freeware & Free software? (S-30)

Ans) Freeware: is generally used for software, which is available free of cost and which allows copying and further distribution, but not modification and whose code is not available. Freeware should not be mistaken for open software or for free software. E.g. internet explorer.

Fee Software: Free software is a matter of the user’s freedom to run, copy, distribute, study, change and improve the software. More precisely, it refers to four kinds of freedom, for the users of the software:

i) The freedom to run the program, for any purpose.

ii) The freedom to study how the program works

iii) The freedom to redistribute copies so you can help your friends.

iv) The freedom to improve the program, and release your improvements to the public, so that the whole community benefits.

c) What is Object Oriented Modeling Technique ? Why UML is used?  (SA-72)
Ans) OMT (Object Modeling Technique) used to perform OOAD (Object Oriented Analysis and Design).

UML stands for Unified Modeling Language. It is an open industry standard visual modeling language for object oriented systems.

UML diagrams are the graphical representation of model of a system. Each UML diagram consists of a set of modes and arcs, where:

     The nodes represent the model elements

     The arcs represents relationships between the model elements

d)  Explain term with suitable example –

    i)  Data Dictionary    ii) Data Warehousing   

    iii) Data Mining          iv) Meta Data (P-11)

Ans) a) Data Dictionary: It defines each term called a data element  encountered during the analysis and design of a new system. Data elements can be described files, data flows or process. E.g. suppose you want to print vendors name and address on I card
Data warehouse The Data Warehouse is a system for storing and delivering massive quantities of data. It is a centralized data repository that stores and provides already transformed and summarized data, therefore, making it an appropriate environment for more efficient DSS and EIS applications.

Data Mining  software allows users to analyze large databases to solve business decision problems. Data mining is , in some ways, an extension of statistics, with a new artificial intelligence and machine learning twist thrown in. It is just a technology not a business solution. For example a retailer who needs to decide who should receive information about a new product.

Metadata:The information that describes the model and definition of the source data elements is called Metadata. It is known as data on data, they are structured data to describe information resource to allow a better and more precise retrieval.

e) Why are the following software used for?

a) Linux
b) Tomcat

(Sample-11)
Ans) a) Linux: Linux is the name of a popular operating system like DOS, WINDOWS. It is most famous example of free software and open source development. So that any one can use it, modify it & redistribute it. It can be downloaded from www.linux.org.
b) Tomcat: It is a function as an independent web server in itself. It operates as such in development environment with no requirement for speed and transaction handling.

Q.2)
Answer the following questions:
a) Differentiate Public Sub and Private Sub.

Ans) When a procedure or module is declared as Private Sub, then the variable are available only to the module in which they are declared.
When a procedure or module is declared as Public Sub, it indicates that the sub procedure is accessible to all other procedures in all script.
b) Explain the following:

i) RAD



ii)  ADO
Ans) i) RAD –  Rapid Application Development is the current programming approach.  It enable one to create applications in shorter time as compared to conventional language. 


A range of applications ca be created with RAD tools. Through RAD tools, Through RAD tools, we can not only develop a small utility program, but also a larger enterprise system or large distributed applications. 

Actually VB is a RAD tool for windows programmers. With VB, we can develop applications by just creating forms, dragging and dropping controls on to forms, setting properties for various things, adding some application-specific code to handle events and that is it.


ii) ADO- It expands to Active-X Data Objects It is an application program interface from Microsoft, which is used with Windows applications to get access to relational as well as non-relational databases.

c) What are events? What are event procedures? How are they related?  
(S-41)

Ans) With Visual Programming, the programmer has the ability to create graphical interface by pointing and clicking with  the mouse. The programmer creates the GUI and writes code to describe what happens when the user interacts with GUI. These notifications are called events.

Event procedures are Visual Basic procedures that respond to event and are automatically generated by the Visual Basic. The programmer adds code to respond to specific events. Only events  that are relevant to a program need to code.

d) Explain Record Set and Types of recordset

(Samp-P-41, SA-452)

Ans) Recordset : A Recordset receives the result set returned from queries to the oracle database and allows you to manipulate them.

There are five types of recordsets-

Table-type-recordset: Representationl in code of a base table that you can use any add, modify  or delete record from a single database.

Dynaset-type-recordset: It contain fields from one or more tables. They can update (like add, modify, delete). This type correspondence to an ODBC key set cursor.

Snapshot-type Recordset: It contains fields from one or more tables. But they cannot be updated. This type correspond to an ODBC static cursor.

Forward-only-type-recordset: Identical to a snapshot except that no cursor is provided. You can only scroll forward through record. (you can see only one record only) this type correspond an ODBC forward-only-cursor.

Dynamic-type-recordset: A query result set from one or more base tables in which you can add, modify in the base tables also appear in your recordet. This typ corresponds to an ODBC dynamic cursor. (ODBC Direct Workspace only)

e) What are parameters? Write the difference between actual and formal parameters with example.

(SA-287)
Ans) Parameters or arguments are the values that are passed to procedures (both subs and functions) and that are used by the procedures to accomplish its specific task.

Actual parameters are those, which appear in the statement (i.e. call statement) invoking the procedure. And formal parameters are those, which appear in the definition of the procedure.

Q.3)
Answer the following questions:
a)   Explain the function SUBSTR() and INSTR() with a 

      suitable example.





[2]

Ans) SUBSTR():Returns a specified number of characters from the given character expression. This tells SQL to clip out a subsection of the string or character expression, beginning at position starting value and continuing for number of characters. The syntax is as:


SUBSTR (column expression, m, n)


Where m is starting value and n is number of characters.

Example:

SELECT ROLL_NO, SUBSTR(NAME, 5, 5) FROM STUDENT;

INSTR(): Returns the numeric poison of a named character. It simply tells you where in the string it found what you were searching for. This is similar to the LIKE logical operator for a SELECT  statement. The syntax is as:


INSTR(string, set [, start [,occurrence]])

INSTR searches in the string for a certain set of characters. It has two options, one within the other. The first option is default; it will look for the set string at position 1. If you specify the location to start, it will skip over all the characters up to that point and begin its search there. The second option is occurrence. A set of characters may occur more than once in a string and you may really be interested only in whether something occurs more than once. By default, INSTR will loop for the first occurrence of the set.


For example

SELECT ROLL_NO, INSTR(NAME, 1, 2) FROM STUDENT;
b) Differentiate between %Type and %rowType.  Explain with example.

Ans) %Type  declaration attribute is used as a anchored declaration. Anchored declaration refers to a declaration where a variable is declared with another variable or a table-coulumn used as a anchor. 
Syntax: 
<variable name>  <object>%Type[NOT NULL]  :=initial Value

Example:


Empsal

emp.Sal%Type;
%rowType The table-based records are declared with an anchored declaration using %rowType as the anchor. A table based record represents each field in the table. It means that the fields in the record have exactly the same name and datatypes as the columns in the specified table have.

Syntax:


<reord name> 
<table name>%rowType; 

Example-


Emp_rec
emp%ROWTYPE


‘ This will create a record  by th4e name emp_rec that can hold values of all fields in one row of emp table.

c) What is the difference between Anonymous block and Named block? Give example also.

Ans) Anonymous Blocks are the blocks without headers i.e., if no header is specified, the block is said to be anonymous PL/SQL block. Anonymous blocks do not form the body of a procedure, function or trigger.

Named blocks are the bocks having headers or labels. Named blocks can either be subprograms (procedures, functions etc.) or triggers (specialized block that initiate some action before or after some data is manipulated in a table).

d) What is transaction? Why do we use commit and rollback statements. Explain in  brief with the help of an example.  
Ans)  A transaction is one logical unit of work consisting of one or more logically related statements.

Commit statement ends the transaction by saving database changes and starts a new transaction.

Rollback ends the current transaction by discarding database changes and starts a new transaction.

e)  Write the syntax to create an explicit cursor and Trigger.
Ans) Syntax for cursor
DECLARE

CURSOR <cursor_name > IS

SELECT <column_name,......> from table_name ;
OPEN <cursor_name>

FETCH <cursor_name> INTO <column_names>

Close  <Cursor_name>;

Syntax for Trigger:
CREATE [or REPLACE] TRIGGER trigger_name


BEFORE | AFTER     INSERT | UPDATE | DELETE


[OF column_name1,column_name2,....]


ON table_name


[FOR EACH ROW]


[WHEN condition]

DECLARE


declarations

BEGIN


PL-SQL code

END;




     [SECTION – B]
Q.4)
Read the following case study and answer the questions that follow:
Mr. Anil Sharma of High Income Finance Company needs to calculate the interest and amount due from his clients. He asks his software programmer to design an interest calculator which will calculate the compound interest and amount due if a person takes a loan for 5, 10 or 15 years. The programmer opts for Visual Basic Language to develop this and create the following form:

[image: image2.png]% Project? - Microsoft Visual Basic [design]

[B&%

Ele Edt View Project Formet Debug Run Query Diagram Tools Addns Window Hep

ER-IT]
x|
o

LRRalo sy k| NERERa A

5 Project! - frminterestCalc (Form)

7095 x 5490

& Form1

Principal

Interest Calculator

© 10 Years

© 15 Years

Calculate |

Interest

Project - Project1

Properties - frmInterestCalc
[frmInterestCal Form
Alphabeti | Categorized |

FrnlnterestCak

1-3

Fale

O asieooo00ok

2-Sable

Formt

True

Tue

13- Copy Pen

0-Sold

f

True

M &+o000000¢

1- Transparent

M Sans Serf

True

W 40000012

True

s430

0

(tcon)

Fale

0

0-More

Forml

True

Fale

True

(one)

0-Defaul

True

egotistettenus True

Returns the name used in code to
identy an object,

——start o

| ot

© Windows HedaPlayer

5]

study i
e (ints
 boar

T——





	Object Type
	Object Name
	Description



	Form
	frmInterest Calc
	The main form object

	Text Box
	TxtPrincipal

txtRate

txtInterest

txtAmount
	To enter the principal

To enter the interest rate

To display the compound 

 interest

To display the amount due

	Comand Button
	cmdResult

cmdGrade

cmdClear

cmdExit
	Button for calculation

Button for grade

Button for clear the text boxes

For close


i) Write the code to disable the textboxes txtInterest and txtAmount in the form load event of frmInterestCalc

Ans) Private Sub Form_Load()

    

txtCompoundInterest.Enabled = False

    txtAmount.Enabled = False

End Sub

ii) Write the code for cmdClear command button to clear all 
the textboxes and set default choice in the Option Buttons as 5 years. Also set the focus to txtPrincipal.

Ans) Private Sub cmdClear_Click()

 
   
txtPrincipal.Text = " "

   
   txtRate.Text = " "

 
   txtCompoundInterest.Text = " "

  
   txtAmount.Text = " "

 
   txtPrincipal.SetFocus

   
 opt5Years.Value = True

          End Sub
iii) Write the code for the Change event of the textboxes    

      txtPrincipal and txtRate to ensure that the user enters only   

      numeric values in them.

Ans)   Private Sub txtPrincipal_Change()

 
   
If Val(txtPrincipal.Text) <= 0 Then

   

    MsgBox "Only numeric values are allowed "

     

   txtPrincipal.SetFocus

   

 End If

End Sub

iv)  Write the code for the Click event of the command button 
       cmdCalculate to calculate the compound interest and   

       amount depending on the principal, rate and time. The  

       compound interest is calculated as P * (1 + R / 100) ^ T  

        and amount as (Principal + Compound Interest).

Ans) 
Private Sub cmdCalculate_Click()

    Dim CompoundInt As Double

    Dim Amount As Double

    Dim Time As Integer

    If opt5Years.Value = True Then

        Time = 5

    Else

        If opt15Years.Value = True Then

            Time = 10

        Else

            Time = 15

        End If

    End If

        CompoundInt = 
Val(txtPrincipal) * (1 + txtRate / 100) ^ Time

        Amount = Val(txtPrincipal) + CompoundInt

        txtCompoundInterest = CompoundInt

        txtAmount = Amount

 End Sub
Q.5)  Answer the following questions -

a) Which three programming constructs are supported by every 

     programming language. Explain with examples. 
        [2]
Ans) Following three programming constructs are supported by 

         every programming language.

    i) Sequence      ii) Selection (Decision) iii) Iteration (Looping)

I) Sequence: The sequence construct means the statements are being executed sequentially. This represents the default flow of the statements.
ii) The selection construct means the execution of statement(s) depending upon condition-test. If a condition evaluates to true, a course-of action (a set of statements) is followed otherwise another course-of-action (a different set of statements) is followed. This construct (selection construct) is also called decision construct because it helps in making decision about which set-of-statements is to be executed.

iii) Iteration- The Iteration construct means repetition of a set-of-statements depending upon a condition-test. Till the time a condition or Boolean expression is true (or false depending upon the loop), a set-of-statements are repeated again and again. As soon as the condition becomes false (or true), the repetition stops. The iteration construct is also called looping construct.

b) Find the errors from the following code segment and rewrite the corrected code underlining the correction made. 
[2]
    x = 5


   x = 5

    Do While x <= 10

   Do While x <= 10

        If x Mod 2 = 0
     
       If x Mod 2 = 0

            Display x


  Print  x

    Loop


       End if

        k = k + 1


        
x = x + 1
    End If


   Loop
c) Find the output of the following code segment  

[2]
    Dim work As Integer, i As Integer

        work = 10

        i = o

        Do While work < 20

            Print work * i

            i = i + 2

            If i = 8 Then

                work = 20

            Else

                work = work - 3

            End If

        Loop

Ans) 


0


14


16


6

d) Write a PL-SQL code to find the sum of series S = a + ar1 + ar2 + ar3+ ar4





           [4]
Code for VB

Dim a, r, s, power As Integer

    a = Val(Text1.Text)

    r = Val(Text2.Text)

    power = Val(Text3.Text)

    For i = 1 To power

        s = s + (a * r ^ i)

    Next

        s = s + a

    MsgBox ("The sum of the enterd series is " & s)

Code for PL-SQL

Ans) declare 



a 
number;



r 
number;



s 
number;



power
number;

begin




a := &a;




r := &r;




s := 0;




power := &power;



for i in 1..power



Loop




s := s + (a * r ** i);



end loop;




s := s+a; 



dbms_output. put_line (s);

end;

/
------------------------------------------------------------------------------
[ SECTION – C]

Q.6) Read the questions given below and answer accordingly.
a) Find the output produced by the following PL/SQL code–






[2]  
DECLARE

 Y NUMBER;

 X NUMBER;

BEGIN

 Y :=15;

 FOR X IN 11..15

 loop

      if x>15 then

  dbms_output.put_line (y);

      else

  dbms_output.put_line (x);  

       end if ;

 y := y-1;

end loop;

end;

/

Ans) 

11

12

13

14

15

b) Find the errors of the following code segment.
[2]

create or replace procedure area_circle(radius real) 

area real;

begin;


area  = 22/7 x  radius x radius


print ('The area is = ',  area);

end;

Corrected code-

create or replace procedure area_circle(radius real) 

is


area real;

begin


area := 22/7 * radius * radius;


dbms_output.put_line('The area is = ' || area);

end;

c)    Write the query for the following –


[2]

i) to display all the procedures and functions you have 

             created.
Ans)  Select Object_type, object_name from user_objects where object_type= 'PROCEDURE'   OR object_type= 'FUNCTION'' ;

      ii)  to view the source code of the procedure.

Ans)  
select text from user_source where name = 'SUMSALARY';     
Note – Here SUMSALARY is the name of the procedure or function.
d)   Write a PL-SQL script that uses cursor FOR loop that 
       determines the top five highest paid employees from EMP    

       table. Be sure to incorporate the usage of the appropriate 
       cursor attributes. Print these five employees details on the  

       screen.






[4]

Ans) declare


           cursor cur_top_5_emp is






select * from emp order by sal desc;



empRec
emp1%Rowtype;

begin


open cur_top_5_emp;


for i in 1..5


loop

       
fetch cur_top_5_emp into empRec;


dbms_output.put_line (empRec.empno|| ' , '|| empRec.ename|| ' , '|| empRec.sal);


end loop;


close cur_top_5_emp;

end;

Q.7) Answer the questions based on the table EMPLOYEE 
        given   below:

	EMPNO
	ENAME
	SALARY

	101
	RAJ
	10000

	102
	SUMIT
	20000

	103
	PAWAN
	30000

	104
	ANIL
	40000


a) Write the SQL command to display employee number and employee name whose salary are exactly 10000, 20000, 40000.





[1]

Ans) SELECT EMPNO,ENAME FROM EMPLOYEE WHERE SALARY IN (1000,2000,4000)
b) Write the SQL command to display the employee name and salary of all the employees in decreasing order of salary field.





[1]

Ans) SELECT * FROM EMPLOYEE ORDER BY SALARY DESC;
c) Write a Procedure raise_sal which creates the salary of an employee. It accepts an employee number and salary increase amount. It uses the employee number to find the current salary from the employee table and update the salary.
Insert the details of the record in the table EMP_AUDIT (fields are EMPNO, INFO)  if no such employee exist in the department 


[4]

Ans) procedure raise_s(emp_id  integer,increase real)

is

              current_salary   real;

        salary_missing  exception;

begin

                 update employee

                set salary = salary + increase

                where empno=emp_id;

exception

      
  when salary_missing then

        insert into emp_audit values(emp_id,'Salary is null');

        dbms_output.put_line ('Salary is null');

        when no_data_found then

        dbms_output.put_line ('No salary');

        insert into emp_audit values(emp_id, 'No salary');

end raise_s;

d) Create a trigger to display the salary difference when an employee information is changed.


[4]

Ans) 

CREATE OR REPLACE TRIGGER CHANGE_EMP

BEFORE UPDATE OR INSERT OR DELETE ON EMPLOYEE

FOR EACH ROW

WHEN (NEW.EMPNO > 0)

DECLARE


DIFF_SAL
NUMBER;

BEGIN


DIFF_SAL :=  :NEW.SALARY - :OLD.SALARY;


DBMS_OUTPUT.PUT_LINE ('OLD SALARY:' || :OLD.SALARY);


DBMS_OUTPUT.PUT_LINE ('NEW SALARY:' || :NEW.SALARY);


DBMS_OUTPUT.PUT_LINE ('DIFERENCE SALARY:' || DIFF_SAL);

END;

=====****=====
Extra 

b) Expand the following terms -


a. ER

b. UML

 (SA-719)

-----------
Q.2)

a)
Differentiate between Do While Loop and Do Until loop of VB giving a suitable example of each.    (SA-214)

b)
Write one difference and one common characteristic between a control and a variable in VB.


c)
Differentiate between ADODB project reference and ADODC in a from using suitable control. (SA-455)

d)
What  is the difference between Call by Value and Call by Reference?



(SA-288)

e) Explain recordset and types of recordset.  

(Samp-P-41, SA-452)

f) What do you understand by interface? Explain the                                                                                                                                                                                                                                                      difference  between SDI and MDI.    (SA-368)

g) What is parameter? What are actual and formal parameters?



(SA-287)

h) What do you mean by implicit and explicit variable declaration?



(SA-158)

----------
Unit-wise questions:
Section-A)
Q.1)
i) Give any four-application areas of Databases.-(S-1)

ii) Explain the terms, Software, Hardware and Firmware using suitable example. (S-11)

iii) Give one major difference between Front End Technology and Back End Technology in terms of Software Projects. Give one example of each. (S-20)

iv) What is the difference between Freeware & Free software? (S-30)
v) Explain the term Client Server Computing using suitable example.

vi) Why GNU is known as GNU not UNIX? (S-48)
vii) Why Interview is better then Questionnaire ? (S-48)

viii) How back end is linked with front end? (S-57)

ix) Differentiate between freeware  and shareware. (S-61)
x) What is the role of Middleware? (P-65)
xi) What is FSF?

xii) What is an Inventory Control System? (P-74)

xiii) Explain OSI and Proprietary Software?

xiv) What is the basic Purpose of Financial Accounting?

xv) Distinguish between Fat Client & Thin Client?
xvi) Write one point out of difference between a freeware and free software?

xvii) Define shareware?

xviii) What is Python?

xix) Expend the following terms-

a) OSS

b) SDLC
c) W3C
d) GNU

Q.2)

i) Explain the term Client Server Computing using suitable example. (P-11)
ii) What does Object Oriented Modeling Technique mean? Why do we use UML? (P-11)
iii) Explain term Data Dictionary, Data Warehousing, Data Mining and Meta Data using suitable examples. (P-11)
iv) Differentiate between ER Modeling and Object Modeling Techniques.

v) Define the following terms in the context of database.


a) Relation

b) Tuple
(S-200
vi) Name two area in industries where business computing can be applied. Describe application of business computing in those industries.
(S-20)

vii) Expand the following terms:


a) ER

b) UML

(S-30)

viii) Identify the scope of relationship represented in the following statements and draw an Entity Relationship Diagram to sketch it:

a) “A Student can issue multiple books from the  library”
b)  “A customer can purchase only one Motorbike at a time from Motor Bike show room.       
(S-30)

ix) Name two tables of Invoicing Management System. Also write their fiels.
x) What is the system development life cycle? Write the steps of system development life cycle.

xi) Explain Cost Benefit Analysis.

xii)
Write a short note a Linux?

xiii)  How Economic Feasibility is differing form Operational Feasibility.

xiv) What is System Implementation?
xv) What do you understand by the term Many-to –One Relationship? Explain with the help of example.

xvi) What is FSF?

xvii) What is SDLC? How it diffe
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Q, Read the following case study   and answer the questions that follows;


Mr. Anil Sharma of High Income Finance Company needs to calculate the interest and amount due from his clients. He asks his software programmer to design an interest calculator which will calculate the compound interest and amount due if a person takes a loan for 5, 10 or 15 years. The programmer opts for Visual Basic Language to develop this and create the following form:

	Object Type
	Object Name
	Description



	Form
	frmInterest Calc
	The main form object

	Text Box
	TxtPrincipal

txtRate

txtInterest

txtAmount
	To enter the principal

To enter the interest rate

To display the compound 

 interest

To display the amount due

	Comand Button
	cmdResult

cmdGrade

cmdClear

cmdExit
	Button for calculation

Button for grade

Button for clear the text boxes

For close


i) Write the code to disable the textboxes txtInterest and txtAmount in the form load event of frmInterestCalc
j) Write the code for cmdClear command button to clear all the textboxes and set default choice in the Option Buttons as 5 years. Also set the focus to txtPrincipal.

k) Write the code for the Change event of the textboxes txtPrincipal and txtRate to ensure that the user enters only numeric values in them.

l) Write the code for the Click event of the command button cmdCalculate to calculate the compound interest and amount depending on the principal, rate and time. The compound interest is calculated as P * (1 + R / 100) ^ T and amount as (Principal + Compound Interest).
Q.) Answer the questions based on the table EMPLOYEE given below:
	EMPNO
	ENAME
	SALARY

	101
	RAJ
	10000

	102
	SUMIT
	20000

	103
	PAWAN
	30000

	104
	ANIL
	40000


m) Write a Procedure raise_sal which creates the salary of an employee. It accepts an employee number and salary increase amount. It uses the employee number to find the current salary from the employee table and update the salary.
Insert the details of the record in the table EMP_AUDIT (fields are EMPNO, INFO)  if no such employee exist in the department 


[4]

n) Create a trigger to display the salary difference when an employee information is changed.


[4]

Ans) 

CREATE OR REPLACE TRIGGER CHANGE_EMP

BEFORE UPDATE OR INSERT OR DELETE ON EMPLOYEE

FOR EACH ROW

WHEN (NEW.EMPNO > 0)

DECLARE


DIFF_SAL
NUMBER;

BEGIN


DIFF_SAL :=  :NEW.SALARY - :OLD.SALARY;


DBMS_OUTPUT.PUT_LINE ('OLD SALARY:' || :OLD.SALARY);


DBMS_OUTPUT.PUT_LINE ('NEW SALARY:' || :NEW.SALARY);


DBMS_OUTPUT.PUT_LINE ('DIFERENCE SALARY:' || DIFF_SAL);

END;

/

o) Write the SQL command to display employee number and employee name whose salary are exactly 10000, 20000, 40000.





[1]

Ans) SELECT EMPNO,ENAME FROM EMPLOYEE WHERE SALARY IN (1000,2000,4000)
p) Write the SQL command to display the employee name and salary of all the employees in decreasing order of salary field.





[1]

Ans) SELECT * FROM EMPLOYEE ORDER BY SALARY DESC;;
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